BERRERGHRE=2)THE (R

L

9

(56E7H 16 ~308AEEM)

SR s

X =F 5h

17[E)#ER

[RF A KE B M RAE (STHRVD)
BERKEANKAR (RFHID
EEREHEENRMRERE

R E EREIE L Sv/h)
No. | mETH w7 R B B2 mems BieAR xH (s - ARBOD T 1E) i
5E #E16ME 5E #E16MH 5E %16[E
N ) o ) 50cm 0.08 0.09 0.07 0.07 0.07 0.07
426| T WERRESST  |BHE&RESST 7R 168
1m 0.07 0.08 0.07 0.08 0.07 0.07
N B 50cm 0.09 0.10 0.09 0.10 0.08 0.08
427| T Zot RERERE L S— (b 18168
im 0.09 0.09 0.09 0.09 0.08 0.08

X TE16mPERRIEF. FMNEF7A6E~7A31HICERELEIESREREBSHRE=SIJHE (RERUERFE16M) IIZHTIRERR TOMITOVTIE, HERICEHT S,

1/1




